Transformations of Ellipses:

We will:
e Translate Ellipses

We won't:
o Reflect Ellipses over either axis
e Stretch or shrink them

Translating Ellipses: Major Axis: Horizontal
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The keys to all of these problems will be:

1.  The coordinates of the CENTER.
Everthing will will be measured from the center.
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Use this equation to find the following coordinates:
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Write the equation of this Ellipse:
Center is (-9,11) Major Axis is horizontal with a length of 26
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Use this equation to find the following coordinates:
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Write the equation of this Ellipse: midpoint of the Ver'*lffs
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Write the equation of this EIIipse:/_7 center s midpomt Write the equation of this Ellipse:
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